10.

6. calcule
a. 200x10=

c. 153 x100-=

corrigé

a. 2000 b. 3000

calcule
a. 1580:10=

c. 1030:10=

corrigé

a. 158 b. 38 740

calcule
a. 100x1425=

c. 1023x100=

corrigé

a. 142 500 b. 267 000

complete les égalités

- TR x100 = 84 000

c. 4132x...... =413 200
corrigé

a. 840 b. 1000
compleéte les égalités

- I :100 =145

Co vrrerens : 1000 =284
corrigé

a.14 500 b. 1000

Activités

b. 10x 300 =

d. 1000x8=

c. 15300 d. 8000

b. 3874x10=

d. 1213x10=

c. 103 d. 121

b. 267 x1000=

d. 1000x89=

c. 102 300

b.45000: ...... =45

d.......:100=26

c. 100 d. 2600

b. 453000:........=453

d. 370 x .......... =370 000

c. 284 000

30

d. 89 000

d. 1000



